. ‘STTIEL
Z0°0+ 08 ELSTT 56
I — ‘STT9L
800+ 68 9/°'STT
< St
o
2
N~
N~
+
—
€0°0+ 08'STTl2L'STT
00 v/.'STT 69°'GTT 06
©
™
)
- €8'STTTLSTT——
W 1070+ S'v
o
re)
+
—
Z0'0+ ¥1°'STT|L9'STT
100+ LOSTTTISTT —55
~oor 9/'STT|¥9°STT o7
<
™
)
2
™
I
+
~ 00 /9'STT|E9'STT
. 8G'STT|ZS"
100+ ¢S'STT 06
™
<
O .
! 00+ L9°'STT|eG'STT Sy
2
—
<
o
+
—
00 8G'STT|eG'STT
2004 6¢'STT|ZZ'STT o6
5
S good 8€'STT|SC'STT oy
1
2
To)
N~
+
O .
900+ 62'GTT|8T'STT
200" TO'STT|86'VTT 06
)
<
o
o
1
2
— 0T OT'STT20'STT ¢
©
1
o
(nd
o
0
+
0 . .
=00 TO'STT|86'VTT
100+ S6'VITI68 V1T 06
o
o
o
2
0 —5'0F v0'STT|/6'VTT o
N
o
x
o)
(9}
+
o
700 S6 w_._: v6'vTT
8 Z 3] —
: < @)
S 2 3 |2
— O w ®)
o v = )
o I g _.I_.__
o = a
¢ | 9 | O
o [a)
Y
g | o
LLP
N
o

Ww - 0.56

3+57

Ww - 0.36

3+32

Ww - 0.32

3+05

Ww - 0.54

2+77

Ww - 0.83

2452

Ww - 0.86

2427

Ww - 0.633

2+02

¥0°0+ TO'STT 6 VTIT ——
06
— 6007 OT'STT96 VT —
€00+ TO'STT|E6'VTT
00 ZS'STT|.P'STT 06
900+ TO'STT0S'STT o
¥0°0+ S'GIT|EV'STT
90°0+ Z8'GIT|TL'STT o6
00F T6'GTTe8eTT
00 Z8'STIT|LL'STT
SO0+ TO9TT[I6'STT 06
o OT'9TT|96'STT—
60°0+ Sv
TO0+ T0'9TT|S6'STT
90°0+ 86'STT|28'STT 55
£T0r L09TT|68'STT o
S0'0+ 86'GTT|88'STT
100+ C6'STT|08'GTT 06
vy T09TTERSTT —
500+ Z6'GTT|28'GTT
SO0+ 98'STT9L'STT —55
o G6'GTT 08'STT
0T 0+ S
€0°0+ 98'GTT[8L'GTT

PRZEKROJE POPRZECZNE

Ww - 0.56

4+84

4+59

Ww - 0.29

4+32

Ww - 0.20

4+06

Ww - 0.18

3+81

Ww - 0.36‘

o
(@)
—
—
-
X
0p)]
00 CEETLTETT 56
T 600% TV ETT LT ETT oo
100+ ZEETT|0ZETT
00 BSETT|ESETT 55
0% LOETTLSETT oy
90°0+ S 8SETT| ¥ ETT
o
S
—
—
o
[a
. oQ* .
00 O8'ETTI8ETT—
“e00r S6'ETT L8'ETT—
Joo+I_ g eTT|vLETT
0r ) )
€00 0Z¥IT 2T ¥IT o
250 62 V1T 22 VTl
¢0'0+ 0ZVTITIET VTIT
. e )
S0°0+ ESYITEr vIT—o =
— 00 ZIVIT|LSVTIT o
€0°0+

ESYIT SV Vil




